Chapter 7 Section 2
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Let u=x dv = —le‘2X
2
du=1 v = e *dx

(11 J' x%e*dx = x%e* —J' 3x%e*dx
Let u=x> dv = e*
du = 3x2dx v = e*dx
—3J' x?e*dx = —3{x2eX —I 2xexd>} = -3x%e* + GI xe*dx
Letu = x? v=¢
du = 2xdx dv = e*dx
6J' xe*dx = 6{xeX - I exd>} = 6xe* — 6e*
Letu=x v=g

du =dx dv = e*dx

If weputit all together we get

J' x2e*dx = x3e* —3x%e* +6xe* —6e* +C
(13 J' x2e* dx

Let u=x>0 du=3x2dx

DJ’ xzexsdxzéf e'du =%e” +C =%exs +C
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(19 [ting+Dot=_t*Int+D -2~ dt
Letu=In(t +1) v:%t2
1
du=——-dt dv = tdt
t+1
t2

t_+1dt = %tz +x+Int-1+C (seesoltion manual chapter 7 section 1#21to see how to solveeq)
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